

sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2118

DATE 01/03/2025

EXPIRATION DATE 02/01/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
02/13/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,500.00	2,500.00
02/13/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	750.00	1,500.00
02/13/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$55 per hr) (contracted with City of Delray Beach)	28	55.00	1,540.00
Thursday, Foseries)	ebruary 13 – 5:30-8:30 pm – River Nights (concert	SUBTOTAL TAX (0%)		5,540.00 0.00
**This estimated rider-specific	ate does not include backline, LED Video Walls, c AV.			
		TOTAL		\$5.540.00

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2119

DATE 01/03/2025

EXPIRATION DATE 02/10/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
03/13/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,500.00	2,500.00
03/13/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	750.00	1,500.00
03/13/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$55 per hr) (contracted with City of Delray Beach)	28	55.00	1,540.00
•	larch 13 – 5:30-8:30 pm – River Nights (concert	SUBTOTAL		5,540.00
series)		TAX (0%)		0.00
**This estimated rider-specification **This estimates a strain of the st	ate does not include backline, LED Video Walls, c AV.			
		TOTAL		\$5.540.00

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2120

DATE 01/03/2025

EXPIRATION DATE 02/28/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
04/10/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,500.00	2,500.00
04/10/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	750.00	1,500.00
04/10/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$55 per hr) (contracted with City of Delray Beach)	28	55.00	1,540.00
•	pril 10 – 5:30-8:30 pm – River Nights (concert	SUBTOTAL		5,540.00
series)		TAX (0%)		0.00
**This estim rider-specific	ate does not include backline, LED Video Walls, c AV.			
		TOTAL		\$5,540.00

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2121

DATE 01/03/2025

EXPIRATION DATE 05/30/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
09/11/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,575.00	2,575.00
09/11/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	772.50	1,545.00
09/11/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	28	56.65	1,586.20
Thursday, S (concert seri	eptember 11 – 5:30-8:30 pm – River Nights es)	SUBTOTAL TAX (0%)		5,706.20 0.00
	nounts are based off contracted Delray Beach steps up 3% annually, in August.			
**This estimation	ate does not include backline, LED Video Walls,			

TOTAL \$5,706.20

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2122

DATE 01/03/2025

EXPIRATION DATE 08/15/2025

\$5,706.20

DATE	ACTIVITY	QTY	RATE	AMOUNT
10/09/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,575.00	2,575.00
10/09/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	772.50	1,545.00
10/09/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	28	56.65	1,586.20
•	ctober 9 – 5:30-8:30 pm – River Nights (concert	SUBTOTAL		5,706.20
series)		TAX (0%)		0.00
	nounts are based off contracted Delray Beach steps up 3% annually, in August.			
**This estimated	ate does not include backline, LED Video Walls,			

TOTAL



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2123

DATE 01/03/2025

EXPIRATION DATE 08/22/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
11/13/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,575.00	2,575.00
11/13/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	772.50	1,545.00
11/13/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	28	56.65	1,586.20
Thursday, November 13 – 5:30-8:30 pm – River Nights		SUBTOTAL		5,706.20
(concert seri	es)	TAX (0%)		0.00
	nounts are based off contracted Delray Beach steps up 3% annually, in August.			
**This estimated	ate does not include backline, LED Video Walls,			

TOTAL \$5,706.20

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2124

DATE 01/03/2025

EXPIRATION DATE 08/22/2025

\$5,706.20

DATE	ACTIVITY	QTY	RATE	AMOUNT
12/11/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,575.00	2,575.00
12/11/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	772.50	1,545.00
12/11/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	28	56.65	1,586.20
•	Thursday, December 11 – 5:30-8:30 pm – River Nights			5,706.20
(concert seri	es)	TAX (0%)		0.00
	mounts are based off contracted Delray Beach steps up 3% annually, in August.			
**This estimated rider-specific	ate does not include backline, LED Video Walls, c AV.			

TOTAL

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2125

DATE 01/03/2025

EXPIRATION DATE 08/22/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
12/12/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,575.00	2,575.00
12/12/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	772.50	1,545.00
12/12/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	28	56.65	1,586.20
Friday, Dece	ember 12 – 7-10pm – Noche Buena	SUBTOTAL		5,706.20
	mounts are based off contracted Delray Beach steps up 3% annually, in August.	TAX (0%)		0.00
**This estimation	ate does not include backline, LED Video Walls, c AV.			
		TOTAL		\$5.706.20

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2126

DATE 01/03/2025

EXPIRATION DATE 02/03/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
03/15/2025	Sound - 101 Large Concert Sound System (contracted with City of Delray Beach)	1	3,600.00	3,600.00
03/15/2025	Lighting - 210 Concert Quality Lighting System (contracted with City of Delray Beach)	1	2,500.00	2,500.00
03/15/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$55 per hr) (contracted with City of Delray Beach)	28	55.00	1,540.00
03/15/2025	Labor - 5 Lighting Tech Services - 1 Tech (14hrs per tech, \$55 per hr) (contracted with City of Delray Beach)	14	55.00	770.00
03/15/2025	Labor - 4 Stage Hands - 2 Hands (14hrs per hand, \$36 per hr) (contracted with City of Delray Beach)	28	36.00	1,008.00
•	arch 15 – 5-9 pm – Port St. Lucie Irish Festival – Event Center	SUBTOTAL TAX (0%)		9,418.00 0.00
**This estim	ate does not include backline, LED Video Walls,			

^^ I his estimate does not include backline, LED video Walls,
rider-specific AV, rigging labor, rigging hardware, scissor lifts or
other ancilliary rigging services.

TOTAL	\$9,418.00
-------	------------

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2127

DATE 01/03/2025

EXPIRATION DATE 03/01/2025

DATE ACTIVIT	Υ	QTY	RATE	AMOUNT
	- 100 n Concert Sound System (contracted y of Delray Beach)	1	2,500.00	2,500.00
	L225 Tech Services - 2 Techs (12hrs per 55 per hr) (contracted with City of Delray	24	55.00	1,320.00
Monday, May 26 – 1	0am-12pm - Memorial Day	SUBTOTAL		3,820.00
**This estimate does rider-specific AV.	not include backline, LED Video Walls,	TAX (0%)		0.00
		TOTAL		\$3,820.00



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2128

DATE 01/03/2025

EXPIRATION DATE 05/01/2025

1	3,600.00	3,600.00
1		
	2,500.00	2,500.00
28	55.00	1,540.00
28	55.00	1,540.00
56	36.00	2,016.00
SUBTOTAL		11,196.00
TAX (0%)		0.00
	28 56 SUBTOTAL	28 55.00 56 36.00 SUBTOTAL

other ancilliary rigging services.

\$11,196.00 TOTAL

Accepted By **Accepted Date**



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2129

DATE 01/03/2025

EXPIRATION DATE 06/01/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
09/11/2025	Sound - 100 Medium Concert Sound System (contracted with City of Delray Beach)	1	2,575.00	2,575.00
09/11/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	24	56.65	1,359.60
Thursday, September 11 – 8:30 – 10 am – 9/11 Commemoration – Mid Florida Event Center		SUBTOTAL		3,934.60
		TAX (0%)		0.00

^{*}Estimate amounts are based off contracted Delray Beach pricing that steps up 3% annually, in August.

^{**}This estimate does not include backline, LED Video Walls, rider-specific AV, rigging labor, rigging hardware, scissor lifts or other ancilliary rigging services.

TOTAL	\$3,934.60
-------	------------

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2130

DATE 01/03/2025

EXPIRATION DATE 07/01/2025

CTIVITY	QTY	RATE	AMOUN
ound - 100 arge Concert Sound System (contracted with ity of Delray Beach)	1	3,708.00	3,708.00
ighting - 200 ledium Lighting System (contracted with City f Delray Beach)	2	772.50	1,545.00
abor - L225 ound Tech Services - 2 Techs (14hrs per ech, \$56.65 per hr) (contracted with City of elray Beach)	28	56.65	1,586.20
ober 4 – 2-9 pm – Oktoberfest - Park	SUBTOTAL		6,839.20
*Estimate amounts are based off contracted Delray Beach pricing that steps up 3% annually, in August.			0.00
	arge Concert Sound System (contracted with ity of Delray Beach) ghting - 200 ledium Lighting System (contracted with City f Delray Beach) abor - L225 ound Tech Services - 2 Techs (14hrs per ech, \$56.65 per hr) (contracted with City of elray Beach) ober 4 – 2-9 pm – Oktoberfest - Park unts are based off contracted Delray Beach	arge Concert Sound System (contracted with ity of Delray Beach) ghting - 200 ledium Lighting System (contracted with City f Delray Beach) abor - L225 cound Tech Services - 2 Techs (14hrs per ech, \$56.65 per hr) (contracted with City of elray Beach) ober 4 – 2-9 pm – Oktoberfest - Park SUBTOTAL unts are based off contracted Delray Beach	arge Concert Sound System (contracted with ity of Delray Beach) ghting - 200 2 772.50 ledium Lighting System (contracted with City f Delray Beach) abor - L225 28 56.65 ound Tech Services - 2 Techs (14hrs per ech, \$56.65 per hr) (contracted with City of elray Beach) ober 4 - 2-9 pm - Oktoberfest - Park SUBTOTAL unts are based off contracted Delray Beach

TOTAL	\$6,839.20
-------	------------

Accepted By Accepted Date

rider-specific AV, rigging labor, rigging hardware, scissor lifts or

other ancilliary rigging services.



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2131

DATE 01/03/2025

EXPIRATION DATE 07/01/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
10/18/2025	Sound - 101 Large Concert Sound System (contracted with City of Delray Beach)	1	3,708.00	3,708.00
10/18/2025	Lighting - 200 Medium Lighting System (contracted with City of Delray Beach)	2	772.50	1,545.00
0/18/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	28	56.65	1,586.20
Saturday, O Ranch/Park	ctober 18 – 4-9pm – Harvest Hayride and Bonfire –	SUBTOTAL TAX (0%)		6,839.20 0.00

^{*}Estimate amounts are based off contracted Delray Beach pricing that steps up 3% annually, in August.

^{**}This estimate does not include backline, LED Video Walls, rider-specific AV, rigging labor, rigging hardware, scissor lifts or other ancilliary rigging services.

TOTAL	\$6,839.20
TOTAL	φο,ο <u>.</u> 9.20

Accepted By Accepted Date



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2132

DATE 01/03/2025

EXPIRATION DATE 08/01/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
10/31/2025	Sound - 101 Large Concert Sound System (contracted with City of Delray Beach) - 2 days	2	3,708.00	7,416.00
10/31/2025	Lighting - 210 Concert Quality Lighting System (contracted with City of Delray Beach) - 2 days	2	2,575.00	5,150.00
10/31/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach) - 2 days	56	56.65	3,172.40
10/31/2025	Labor - 5 Lighting Tech Services - 1 Tech (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach) - 2 days	28	56.65	1,586.20
10/31/2025	Labor - 4 Stage Hands - 2 Hands (14hrs per hand, \$37.08 per hr) (contracted with City of Delray Beach) - 2 days	56	37.08	2,076.48
	31-Nov 2 – TBD – Fall Fun Fest (might be 2 days)	SUBTOTAL		19,401.08
— Mid Florida Event Center		TAX (0%)		0.00

^{*}Estimate amounts are based off contracted Delray Beach pricing that steps up 3% annually, in August.

TOTAL \$19,401.08

^{**}This estimate does not include backline, LED Video Walls, rider-specific AV, rigging labor, rigging hardware, scissor lifts or other ancilliary rigging services.



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2133

DATE 01/03/2025

QTY	RATE	AMOUNT
1	2,575.00	2,575.00
24	56.65	1,359.60
SUBTOTAL		3,934.60
TAX (0%)		0.00
TOTAL		\$3,934.60
	24 SUBTOTAL TAX (0%)	1 2,575.00 24 56.65 SUBTOTAL TAX (0%)



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2134

DATE 01/03/2025

EXPIRATION DATE 07/01/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
11/22/2025	Sound - 101 Large Concert Sound System (contracted with City of Delray Beach)	1	3,708.00	3,708.00
11/22/2025	Lighting - 210 Concert Quality Lighting System (contracted with City of Delray Beach)	1	2,575.00	2,575.00
11/22/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	28	56.65	1,586.20
11/22/2025	Labor - 5 Lighting Tech Services - 1 Tech (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	14	56.65	793.10
11/22/2025	Labor - 4 Stage Hands - 2 Hands (14hrs per hand, \$37.08 per hr) (contracted with City of Delray Beach)	28	37.08	1,038.24
•	ovember 22 - 2-9 pm – International Fest - Mid	SUBTOTAL		9,700.54
Florida Ever	nt Center outdoor stage	TAX (0%)		0.00

^{*}Estimate amounts are based off contracted Delray Beach pricing that steps up 3% annually, in August.

TOTAL \$9,700.54

^{**}This estimate does not include backline, LED Video Walls, rider-specific AV, rigging labor, rigging hardware, scissor lifts or other ancilliary rigging services.



sales@allonstage.com https://www.allonstage.com

ADDRESS

Nan Krushinski City of Port St. Lucie 2234 SE Belvedere St. Port St. Lucie, FL 34984 Estimate 2135

DATE 01/03/2025

EXPIRATION DATE 08/01/2025

DATE	ACTIVITY	QTY	RATE	AMOUNT
12/06/2025	Sound - 101 Large Concert Sound System (contracted with City of Delray Beach)	1	3,708.00	3,708.00
12/06/2025	Lighting - 210 Concert Quality Lighting System (contracted with City of Delray Beach)	1	2,575.00	2,575.00
12/06/2025	Labor - L225 Sound Tech Services - 2 Techs (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	28	56.65	1,586.20
12/06/2025	Labor - 5 Lighting Tech Services - 1 Tech (14hrs per tech, \$56.65 per hr) (contracted with City of Delray Beach)	14	56.65	793.10
12/06/2025	Labor - 4 Stage Hands - 2 Hands (14hrs per hand, \$37.08 per hr) (contracted with City of Delray Beach)	28	37.08	1,038.24
•	ecember 6 - 2-9 pm - Festival of Lights - Mid	SUBTOTAL		9,700.54
Florida Ever	nt Center outdoor stage	TAX (0%)		0.00

^{*}Estimate amounts are based off contracted Delray Beach pricing that steps up 3% annually, in August.

TOTAL \$9,700.54

^{**}This estimate does not include backline, LED Video Walls, rider-specific AV, rigging labor, rigging hardware, scissor lifts or other ancilliary rigging services.